E=1Ek

SAE ;A=%7%I / SAE-flange Series
CSFS BIFEWKLIEET SAE A=A 1 / CSFS SAE Flange Kit with Single Welding Head

AR *) HEFTRIEENE A TER MG
. . Connecting head sizes shown in bold are
Dimensions ’
prefe- rential
**) EAZIE R ~TRIBR S, 3007 1FEIMZ
Da EPrAD73.9
Because of the limit of the inner
diameter of the flanges, the real
dimension of Da for 3007 con- necting
head is @73.9.
[FE | REIEED BXAKS R O BUFHiE | dBieHIE 2
Nominal Size | Max. Pressure Type Code Dimensions O-Ring Belts |Weight
mm [ in. bar Al BJTE]JFJa] H]L M kg
3000 psi  1SO 6162-1/ SAE J518C-61
. 541 ] 460 | 175 ] 381 [ 301 ] 26 | 45
13 | 12 350 CSFS3001 [ == ~ 1~ 30" 17 536202 18.7x355 | M8x40 | 048
19 | 34 350 CSFS 3002 636 | 520 ZZ'SJ 78 I- 81|28 % 250x3.55 | M10x45 | 0.81
Daxs | 25x3 /269x36 o * i
704 [ 595 | 262 | 524 [ 444 28 | 55
2 i F: soodl SELIL S 2o SEELSEHL 52
S e CSFS3003 |5 =51 30x4 /33.7x3.27354 SORED | WiDel | 8
o] 77 [ 70 202 ] s87] so8] a2 J 61
32 |14 250 CsFS3004 [ | 424x32 " 130.4x4/38.3x3/38.4x4x38.5%5/ S7.7x355 | M10x50 | 1.52
424x5
___ w980 7] 609] 603] 32 ] 66
38 [112 200 CSFS 3005 Daxs | 48:3%3.2 /48.3x4.5/42.4x3.2/48.3x2.6/ 472x355 | M12x50 | 215
48.3x3.6/48.3x4/48.3x5/48.3x6.3
101.8 |_ 97.0 | 42.9J 77.8 |_ 710 32 76
51 2 200 CSFS3006 | o | 60.3x29/60.3x3.9/60.3x56  /48.3x3.6/ 56.7x355 | M12x50 | 296
60.3x5/60.3x6.3
64 | 212 160 csrsaoor |- | 1149 1090] 508 ] 889 841] 38 | 85 | 4 nes| mraxss | 30
Daxs | 76.1%2.9/761%3.6  76.1x4/76.1x7 1
6| @ 100 csrsa00s | - - - 4144l 1310] 619 [ 1064] 1016] 42 | 91 [ g5s, 565 | miexes | 500
Daxs | 88.9x3.6 /76.1x36/76.1x7.1/88.9x32
89 312 35 csrsaoos | - __ ] 1827 1400] 699 | 1207] 1143] 44 | 102 [ g5, 555 | miex7o | 762
Daxs | 88.9x3.6 /100x6/88.9x8/114.3x36
102 | « 35 csFsaoto |} 1622[ 1820] 778 | 1302] 1270[ 48 | 104 [ 1157 nes| misx7s | 876
Daxs | 114x36 ~/88.9%3:6/110x6/114.3x6
P - csrsaon |- | 1844 1810 921 | 1524 1524] 60 | 110 | 4364, 555| miexes | oe2
Daxs | 139.7x4 [127x4/133x4/139.7x10
6000 psi SO 6162-2 / SAE J518C-62
. ___]ses5[ 280 182] 405[ 317 ] 32 J_56
13 | 12 420 CSFSBO01 == — = e 3 E 18.7x355 | M8x45 | 050
. ___] 78 [eoo] 238] 508 413 38 ] 65
19 | 34 420 CSFS6002 [ 5 =~ 1~z ™ /2003 26 955 250x355 | M10x55 | 1.05
. ___ls&2[700] 78] 572476 48 ] 75
B 420 CSFSB003 [0 o | "30x5 /25 30x47 337711 386 329x3.55 | M12x65 | 1.9
" ___J]o4e 780 318] 666 [ 540 [ 54 ] 75
o 420 CSFS6004 |5 = 5 | “38x5/38x6/ 42.4x8.8 | 424x2.6) 42.4x6.3 37.7x355 | Midx75 | 290
___Ima3[ 90 ] 365] 793 635] 60 J_ 90
38 (112 350 CSFS 6005 D 38x6/48.3x8/48.3x8.8 /38x5/48.3x6.3/ 472x355 | M16x85 | 4.65
axs | 483x7.1
51 | 2 350 csFse006 |- - - 11328 I I ) I [ 56.7x3.55 [ M20x 100 | 7.65
Daxs | 603x10 /48.3x8/60.3x8/60.3x8.8 X X :
., 1800 [ 150.2] 588 ] 123.8] 1089 90 | 125
64 | 212 350 CSFS 6007 [ = = 1 = e e 13 76110/ BB.904 3 694x355 | M24x 130 | 16.35
2150 1982 ] 716 | 1524 1325 ] 110 | 155
7 p F: Pt Rt P oL oot CC --2 3x355 | M30x 150 | 26.
ik e CSFSB008 |5 55 | “ssoxid2 788.5x117 114.3x11/ 114 3x17.5 CREss) || UEESTE || eécht

353



